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thisdict = {

"apple": "FER", 7 . HOUHIEBEFEEER
"orange": "t#&F", 27 EREZFRMEEREE
"mango"; "1&F" (key)

}

thisdict["mango"] = "t=R"

thisdict['banana"] = "&&"

print(thisdict) — )
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dict = {
"apple": "Z8R",
"orange": "#&+",
"mango": "i&"
}
dict["mango"] = "t=R"
dict["'banana"] = "&&"
print("1. F#{dict}A {cnt} £" format(dict=dict, cnt=len(dict)))
dict.pop("apple")
print("2. F#{dict} B {cnt} =" format(dict=dict, cnt=Ilen(dict)))
fruit = dict.popitem()
print("fe FE = {fruit}".format(fruit=fruit))
print("3. F#{dict}A {cnt} £" format(dict=dict, cnt=len(dict)))
del dict['orange’]
print("4. F#{dict}A {cnt} £" format(dict=dict, cnt=len(dict)))
dict.clear()
print("5. = HL{dict}F {cnt} 2" .format(dict=dict, cnt=len(dict)))
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1. FHi{'apple’: 'FEF’, 'orange’: 'fff', 'mango’
: 'C2R', 'banana’: 'HFE'YH 4 FE
2. ‘FHi{'orange’: 'fFT', 'mango’: 'T=3’', 'banana

" 'BE'Y A 3=
—— HF#EEY (‘banana’, 'FE') ——
3. F8i{ 'orange’: "I, 'mango’: 'TIR'}F 2 =F
4. FFH{'mango’: 'TH'}YAE 1 &£ -
5. FFEL{YH 0 =
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(https://www.w3schools. com/python/bython d|ct|onar|es asp)
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